2.1 Factoring out GCD

1. 2%(3 + 52%)
2. 5(a* —5)

3. 16(1 + 4ay)
4. 2a(1 —a)
5. 15a*(1 — 12a?)
6. x2(z —1)

7. a(a+0b)

8. 2a3(3 + a + 2d?)

9. 7x(1 — 2* 4 22%)

10. (322 —z +1)

11. a(a® — ay + %)

12. (z +y)(3a + 5mb — 9d*z)

13. (a —Db)(4 — 152y + 1 — 5a%) = (a — b)(5 — 152y — 5a?)
14. 4z(2?y — 3ax — 2y°)

15. 2azy® (32?2 — 22y + % — ay?)

16. 172%y(32% — 22°%y + )

17. 3ab(2ab — a®bc — 3b%c + ¢)

18. 3ax(2% — 8 4+ 92 — 2 — 32)

19. z(7x — 20)

20. zy(z® — 3zy + Ty°)

21. (a+2)(x+7)

22, x(x+2) + 2y(x+2) = (x+2)(x+2y)

23. a(x+y) + b(x+y) = (x+y)(a+b)

24. x(x+a) + b(xta) = (x+a)(x+b)

25. a(z® —y*) = b(a® —y*) = (¥ —y*)(a -
26. z(x —a) +5(x —a) = (z —a)(z+5)

27 xz(x +my) — dy(x + my) = (z + my)(z — 4y)
28. 2322 — 1)+ 22z — 1) = (22 — 1)(2® + 2)
29. m(z —a) —n(r —a) = (x —a)(m—n)
30. 2z + 1)+ 1z +1) = (z+1)(2* + 1)
3Ly’ (y— 1)+ 1y —1) = (y - 1(¥" + 1)
32. 3a(x +y) —2b(x +y) = (z+ y)(3a — 2b)

33. 3am(2x +y) — 3an(2z +y) = (2 + y)(3am — 3an)
4. z(z —2) —3y(x —2) = (z — 2)(1 — 3y)

35. 2% + 3z — 10

36. 2> — 25

37. 2° + 1527 + T4z + 120



